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QUESTION 1

Given a spinner with four sections of equal size labeled A, B, C, and D, what is the
A.9/16

B. 1/8

C.1/4

D. 1/2

E. 15/16

Correct Answer: A

QUESTION 2

The number of bunnies in Peter\\'s yard increases by 4 times every week. How many weeks will it take for the number of
bunnies to be divisible by 8 assuming that he started out with 3 bunnies?

Al

B. 2.

C.3.

D. 4.

E. Never.

Correct Answer: B

In the beginning he has 3, one week later he has12 and two weeks later he has 48 and that can be equally divided by
8.

QUESTION 3

Which of the following values of x would satisfy the inequality x > 1?
) x=1723

I)x=1-4/3 22

yx=1-1/3 2-2

A. 1 only

B. 1l only

C. lland Il only
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D. | only

E. Il only

F. land Il only
G. l and lll only
H. 1, 1l, and Il

Correct Answer: C

QUESTION 4

There are X watermelons of 10 Kg each, and Y Watermelons of R Kg each. The average weight of a watermelon is 12
Kg. What is the value of R? (1) There are five heavier watermelons more than lighter watermelons.

)

The weight of the heavier watermelons in Kg is equal to their number.

A

Statement (1) BY ITSELF is sufficient to answer the question, but statement (2) by itself is not.
B.

Statement (2) BY ITSELF is sufficient to answer the question, but statement (1) by itself is not.
C.

Statements (1) and (2) TAKEN TOGETHER are sufficient to answer the question, even though NEITHER statement BY
ITSELF is sufficient.

D.
Either statement BY ITSELF is sufficient to answer the question.
E.

Statements (1) and (2) TAKEN TOGETHER are NOT sufficient to answer the question, requiring more data pertaining to
the problem.

Correct Answer: C

Statement (1) defines the relationship between X and Y. Statement (2) defines the relationship between Y
and R.

We get the following equations:

10x X+ R XY =12 (X+Y), Y=X+5, and Y=R. Now solve and find R.
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QUESTION 5

Which of the following expressions is equivalent to ?
A. X

B. X >4,

C.X>-4,

D.4
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